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N. B.: (1) Question No. 1 is compulsory.
(2) Solve any three questions from remaining five questions. : N
(3) Draw neat diagrams and assume suitable data wherever
necessary. Justify your assumptions.

1. (a) Convert a SR flip flop to JK flip flop. R 5
(b) Define the term propagation delay and specify its value for a TTL %;’ltﬂ:- 5

and CMOS gate.
{c) Explain the glitch problem of a ripple counter with a wav ef‘m*h 5
(d) Compare a PAL and PLA device. N 5
2. (a) Design a MOD 10 synchronous up counter using T ﬂ‘ib f},ﬂps 10
(b) Write VHDL code foral :8 Demuitxplexer 10

LS

(a) Design 8-bit BCD adder using 7483 and {:xplamdﬁc oﬂeratmn with an 10
E}.HII!PIE . ¥
(b) Analy?ﬂ the clocked synchronous mactu;éaﬂ shown below and write 10
sitation equations, exciiaiion 1aLIC 48G siate tabie. Oraw the state
diagram Assume x =0 and 1. x
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4. (a) Whatis Mtﬂflplexer Tree? 10
Implcmqqt ‘the following using 8:1 MUX using only NAND gates
P{A,B.,C D)= Xm(0, 1,2,4,5,7,10, 13,15) + d(3, 11)
(b) Dasign a circuit to implement the following functions with optimum 10
utilization of PLA having 3 inputs, 3 product terms and 2 outputs.
“SFIAB.C)= Zm(4,5,7)
- F2(A,B,C)= 2m(3,5,7)
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5. (a) Implement a sequence detector using Mealy machine to detect a 10
sequence ... 11 0 1... using D flip flop and" logic gates. '
(b) Find reduced SOP form and 1mplemem the same using c-my NAND 10
gates:
(i) flA.B.C,D)= ¥m(0.6,7,9,12, 15)+2d(14 11)
(i) W, X,Y,Z)= nM(0,1,2,8,9,40:12,13, 15)

6. Write short notes on (any thrae) _ 20
(a) CMOS Inverter | '
(b) Fault Model :
(c) Frequency division in asynchronous counters
(d) Shift Registers-




